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Aufgaben-Quickname: 7974

Aufgabe 1
Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) (−33) + 50 =
�

��-83
�

��-17 17 �
��83 b) (−39) + 22 =

�
��-61 -17 �

��17 �
��61

c) (−21) + (−46) = -67
�

��-25 �
��25 �

��67 d) 43 + (−23) =
�

��-66
�

��-20 20 �
��66

e) 5 + (−6) =
�

��-11 -1 �
�1 �

��11 f) 24 + (−14) =
�

��-38
�

��-10 10 �
��38

g) 28 + (−48) =
�

��-76 -20 �
��20 �

��76 h) 2 + (−5) =
�

�-7 -3 �
�3 �

�7
i) (−32) + 10 =

�
��-42 -22 �

��22 �
��42 j) (−11) + (−31) = -42

�
��-20 �

��20 �
��42

Aufgabe 2
Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) 60− 27 =
�

��-87
�

��-33 33 �
��87 b) 64− 20 =

�
��-84

�
��-44 44 �

��84
c) (−9)− (−42) =

�
��-51

�
��-33 33 �

��51 d) (−36)− (−55) =
�

��-91
�

��-19 19 �
��91

e) 19− (−6) =
�

��-25
�

��-13 �
��13 25 f) 65− (−85) = ����-150

�
��-20 �

��20 150
g) 1− 22 =

�
��-23 -21 �

��21 �
��23 h) 22− 23 =

�
��-45 -1 �

�1 �
��45

i) 73− (−67) = ����-140
�

�-6 �
�6 140 j) 16− (−84) = ����-100

�
��-68 �

��68 100

Aufgabe 3
Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) 19− (−1) =
�

��-20
�

��-18 �
��18 20 b) 21 + (−30) =

�
��-51 -9 �

�9 �
��51

c) 28− 29 =
�

��-57 -1 �
�1 �

��57 d) 4− (−37) =
�

��-41
�

��-33 �
��33 41

e) 22 + (−10) =
�

��-32
�

��-12 12 �
��32 f) 3− 5 =

�
�-8 -2 �

�2 �
�8

g) 16 + (−38) =
�

��-54 -22 �
��22 �

��54 h) 15− (−16) =
�

��-31
�

�-1 �
�1 31

i) 25 + (−26) =
�

��-51 -1 �
�1 �

��51 j) 26 + (−11) =
�

��-37
�

��-15 15 �
��37

Aufgabe 4
Quick:
7974

Welches Ergebnis ist richtig? Streiche die falschen Zahlen durch.

a) 94 + (−395) = ����-489 -301 ���301 ���489 b) 44 + (−130) = ����-174 -86 �
��86 ���174

c) 217− (−68) = ����-285 �
���-149 ���149 285 d) 466 + (−26) = ����-492 �

���-440 440 ���492
e) 50− 214 = ����-264 -164 ���164 ���264 f) 236 + (−277) = ����-513 -41 �

��41 ���513
g) 234 + (−477) = ����-711 -243 ���243 ���711 h) 98− (−108) = ����-206

�
��-10 �

��10 206
i) 262− 26 = �

���-288 �
���-236 236 ���288 j) 102− (−323) = �

���-425 �
���-221 ���221 425
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Viel Erfolg!
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